Calculus I, Fall 2025 (Thomas’ Calculus Early Transcendentals 13ed), http://www.math.nthu.edu.tw/~ wangwc/
Brief solutions to selected problems in homework 01

1. Section 2.2: Solutions, common mistakes and corrections:

Figure 1: Section 2.2, problem 81

Remark: The idea: Since "the limit of the ratio” is nonzero and ”the limit of the
denominator” is zero, it follows that ”the limit of the numerator” must be zero, other-
wise the ratio will diverge. The idea can be supported by the Limit Laws as detailed
above.



2. Problem 2:
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Figure 2: Homework 01, problem 2, a minor mistake

3. Section 2.3: Solutions, common mistakes and corrections:

Figure 3: Section 2.3, problem 35



s2.3 p43

L
v

D < e |<%iﬂi‘91§

-2 x-Is€

& g+| <K Ex| (80 )
A’. i _ZTI J b"’(
é ‘€-r{>x>é+[ (0\‘**l ' ‘ %/é; S= QU_) 10‘ 7L
*g (~1>‘x 1..\ O<\)(ﬁ &&95 \ \g_{<\< é

® @0

" PR
e

e

® . 3

L

'\\ T “v

o mEn

. A 7(1‘(1/
‘@7—'2477( 7@'!
o
‘Qﬁ'vnm}’/z(,”-ﬁyi ’
<.‘

ﬂ_~+'

_tlke g" H"V I:’-:

_,“: _} 7 ‘j'%l i @—L, §

Figure 5: Section 2.3, problem 43: mistake 1
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Figure 6: Section 2.3, problem 43: mistake 2

Figure 7: Section 2.3, problem 43: mistake 3



4. Problem 4: False. Counter example:
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Figure 8: Homework 01, problem 4, a counter example
5. Problem 5:
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Figure 9: Homework 01, problem 5



